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ENGLISH)

CONIC SECTIONS

Examples

1. Find the equation of the circle with centre at

(-1,0) and radius 2.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_atOxX9ilBV7Y


Watch Video Solution

2. Find the equation of circle central at (-5,0)

and passing through the origin.

Watch Video Solution

3. Find the equation of a circle with centre (2,

2) and passes
through the point (4, 5).

Watch Video Solution

https://dl.doubtnut.com/l/_atOxX9ilBV7Y
https://dl.doubtnut.com/l/_pM0o6Uq4mFiK
https://dl.doubtnut.com/l/_KyqA703T4JHl
https://dl.doubtnut.com/l/_9wHEdJ9oyPLv


4. If , find the equation

of the circle with AB as diameter.

Watch Video Solution

A( − 2, 3), B(3, − 5)

5. Find the equation of circle centred at (3,3)

and touches the coordinate axes.

Watch Video Solution

https://dl.doubtnut.com/l/_9wHEdJ9oyPLv
https://dl.doubtnut.com/l/_EILrXxm4tUTJ


6. Find the equation of the circle passing

through the points (1,1), (2,-1), and (3,2).

Watch Video Solution

7. The circle whose equation is

 has the centre……………….

Watch Video Solution

x2 + (y − 1)2 = 2

https://dl.doubtnut.com/l/_zx1MaJobpWIV
https://dl.doubtnut.com/l/_Rxkqc2EEg9ub


8. Find the centre and radius of the circle 

.

Watch Video Solution

3x2 + (a + 1)y2 + 6x − 9y + a + 4 = 0

9. Find the centre and radius of the circle

.

View Text Solution

2x2 + 2y2 − x = 0

https://dl.doubtnut.com/l/_TkoiL6b6fWG6
https://dl.doubtnut.com/l/_RSfi8Zaad6Tp


10. Find the equation of the circle passing

through the point (4,1) and (6,5) and whose

centre is on the line .

Watch Video Solution

4x + y = 16

11. Does the point  lie inside,

outside or on the circle ?

Watch Video Solution

( − 2, 5, 3.5)

x2 + y2 = 25

https://dl.doubtnut.com/l/_uE3oauBAuEg3
https://dl.doubtnut.com/l/_kjjILuPRlrTX


12. Consider the circle

 


(i) Find its radius of the circle

 


(ii) Find the equation of the circle with centre

at C and passing through (1,2).

Watch Video Solution

x2 + y2 + 8x + 10y − 8 = 0

x2 + y2 + 8x + 10y − 8 = 0

13. Find the equation of the circle passing

through the points  and  and(2, 3) ( − 1, − 1)

https://dl.doubtnut.com/l/_4wjhhR4xhxc1
https://dl.doubtnut.com/l/_GAeibVApGbjI


whose centre is on the line x-3y-11=0.

Watch Video Solution

14. Find the equation of a circle of radius 5

whose centre lies on x-axis and which passes

through the point (2,3) .

Watch Video Solution

15. Find equation of the circle passing through

 and making intercepts  and  on the(0, 0) a b

https://dl.doubtnut.com/l/_GAeibVApGbjI
https://dl.doubtnut.com/l/_v9oEXrd0HCC8
https://dl.doubtnut.com/l/_mhwEtrZPZ44Q


coordinate axes.

Watch Video Solution

16. For the parabola , write its focus

and the equation of the directrix.

Watch Video Solution

y2 = 8x

17. Find the coordinates of the focus, the axis,

the equation of the directrix and the lengths

of the latus rectum of the following parabolas 

https://dl.doubtnut.com/l/_mhwEtrZPZ44Q
https://dl.doubtnut.com/l/_IIaGv6nFcnfP
https://dl.doubtnut.com/l/_FHD5OzlZuY19


 


.

View Text Solution

i. x2 = 6y       ii. x2 + 16y = 0

iii. y2 = 10x     iv. y2 = − 8x

18. Find the equation of the parabola with

vertex (0,0), focus (-2,0).

Watch Video Solution

19. Find the equation of the parabola with

vertex (0,0), passing through (5,2) and

https://dl.doubtnut.com/l/_FHD5OzlZuY19
https://dl.doubtnut.com/l/_oC7kagQhmSKU
https://dl.doubtnut.com/l/_CNpTVvy1HZTO


symmetric with respect to y-axis.

Watch Video Solution

20. Find the equation of the parabola with

vertex at (0,0) and focus at (0,3).

Watch Video Solution

21. The focus of a parabolic mirror as shown in

figure is at a distance of 5 cm from its vertex. If

https://dl.doubtnut.com/l/_CNpTVvy1HZTO
https://dl.doubtnut.com/l/_dNRqzOPmNNfO
https://dl.doubtnut.com/l/_gvNZgm9nveGn


the mirror is 45 cm deep, find the distance of

AB.

Watch Video Solution

22. Consider the equation . 


i. The above curve is …………….. .

ii. Find the eccentricity of the above conic.

Watch Video Solution

+ = 1
x2

100

y2

25

https://dl.doubtnut.com/l/_gvNZgm9nveGn
https://dl.doubtnut.com/l/_Xbf3L1JdUOga


23. Find the coordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the latus rectum of

the ellipse 

Watch Video Solution

+ = 1
x2

25

y2

9

24. Find the equation of the ellipse whose 

i. Vertices  foci  ii.

Vertices  foci .

Watch Video Solution

( ± 5, 0), ( ± 4, 0)      

(0, ± 13), (0, ± 5)

https://dl.doubtnut.com/l/_3Qvh3VyqzL4K
https://dl.doubtnut.com/l/_J2YSQkd3e5Qo


25. Find the equation of the ellipse in the

following
 case: ends of major axis 

ends of minor axis 

Watch Video Solution

( ± 3, 0)

(0, ± 2)

26. Find the equation of the ellipse whose

length of minor axis is 16 and foci are 

.

Watch Video Solution

(0, ± 6)

https://dl.doubtnut.com/l/_J2YSQkd3e5Qo
https://dl.doubtnut.com/l/_FaCgal29JYgS
https://dl.doubtnut.com/l/_gotBHhvll0Wd


27. In each of the following find the equation

fot the ellipse that satisfies the given

conditions : 

Centre at  , major axis on the y-axis and

passes through the points  and .

Watch Video Solution

(0, 0)

(3, 2) (1, 6)

28. An ellipse has its centre at origin, whose

vertical major axis is 5 and the minor axis is 4. 

https://dl.doubtnut.com/l/_grnJoLu2U9WT
https://dl.doubtnut.com/l/_0BGn47v52st4


i. Write its equation. 

ii. What is its eccentricity ?

Watch Video Solution

29. An ellipse whose whose axis as x-axis and

the centre (0,0) passes through (4,3) and (-1,

4). 

i. Find the equation of the ellipse. 

ii. Find its eccentricity.

Watch Video Solution

https://dl.doubtnut.com/l/_0BGn47v52st4
https://dl.doubtnut.com/l/_ra7tCkTHT1Ca
https://dl.doubtnut.com/l/_SxUI26cJnXI2


30. A rod AB of length  cm rests in between

two coordinate axes is such a way that the end

point A lies on x-axis and end Point B lies on y-

axis. A point P (x,y) is taken on the rod in such

a way that  . Show that the locus of

P is an ellipse.

Watch Video Solution

15

AP = 6cm

31. An arch on a road is in the shape of semi-

ellipse. The breadth of the road is 30 feet. A

man 6 feet tall just touches the arch when he

https://dl.doubtnut.com/l/_SxUI26cJnXI2
https://dl.doubtnut.com/l/_mH7OIicl3k2O


stands 2 feet the side . 

i. Assuming the road level as x-axis (major

axis). Find the point C. 

ii. What is the maximum height of arch (minor

axis)?

Watch Video Solution

32. Find the coordinates of the foci, the

vertices, the eccentricity and the length of the

latus rectum of the hyperbola. 

 
9x2 − 16y2 = 144

https://dl.doubtnut.com/l/_mH7OIicl3k2O
https://dl.doubtnut.com/l/_Bc3ZYc88N2b1


Watch Video Solution

33. Find the equation of the hyperbola whose 

i. vertices are  and foci  


ii. Vertices  and foci .

Watch Video Solution

( ± 5, 0) ( ± 8, 0)

(0, ± 5) (0, ± 8)

34. Find the equation of the hyperbola with

foci on  and the latus rectum is of

length 8.

Watch Video Solution

( ± 3√5, 0)

https://dl.doubtnut.com/l/_Bc3ZYc88N2b1
https://dl.doubtnut.com/l/_GQNUIFPWeSLM
https://dl.doubtnut.com/l/_QsGb8hbG0SHk


35. Find the equation of the hyperbola whose

foci are  and the length of the

transverse axis is 8.

View Text Solution

( ± 5, 0)

36. A hyperbola whose transverse axis , centre

(0,0) and foci  passes thorugh the

point (3,2). 

( ± √10, 0)

https://dl.doubtnut.com/l/_QsGb8hbG0SHk
https://dl.doubtnut.com/l/_arRbUWvUHjnw
https://dl.doubtnut.com/l/_ug1b3d0PeR3T


i. Find the equation of the hyperbola. 

ii. Find its eccentricity .

View Text Solution

37. Find the equation of the hyperbola whose

foci are  and is passing through

the point 

View Text Solution

(0, ± √10)

(2, 3).

https://dl.doubtnut.com/l/_ug1b3d0PeR3T
https://dl.doubtnut.com/l/_G8LFqGM29rqd


38. If a parabolic reflector is 20 cm in diameter

and 5 cm deep, then its focus is

Watch Video Solution

39. Find the area of the triangle formed by the

lines joining the vertex of the parabola

 to the ends of its latus rectum.

Watch Video Solution

x2 = 12y

https://dl.doubtnut.com/l/_j7EoO7pviNtq
https://dl.doubtnut.com/l/_UfvzvDJxgJ0r


Exercise Circle

40. An equilateral triangle is inscribed in the

parabola  whose vertex is at the

vertex of the parabola. Find the length of its

side.

Watch Video Solution

y2 = 4ax

1. The centre of the circle

 isx2 + y2 + x + y − 15 = 0

https://dl.doubtnut.com/l/_oAJQjBAuyc2H
https://dl.doubtnut.com/l/_jnYQYF4yfyMA


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

(0, 0)

(1, 1)

( − 1, − 1)

( , )
−1

2

−1

2

2. If one end of a diameter of a circle is 

and the centre is (2,3) then the other end of

the diameter is

(3, 5)

https://dl.doubtnut.com/l/_jnYQYF4yfyMA
https://dl.doubtnut.com/l/_mXwClQ5h0WVA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, 1)

(2, 1)

(3, 1)

(1, 2)

3. If one end of a diameter of a circle

 is (3,2), then

the other end is

2x2 + 2y2 − 4x − 8y + 2 = 0

https://dl.doubtnut.com/l/_mXwClQ5h0WVA
https://dl.doubtnut.com/l/_5jpChRHfECf1


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(2, 3)

(4, − 2)

(2, − 1)

( − 1, 2)

4. The circle  cuts

the x axis at the points

x2 + y2 − 3x − 4y + 2 = 0

https://dl.doubtnut.com/l/_5jpChRHfECf1
https://dl.doubtnut.com/l/_vqOAzBRS228L


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, 0), (2, 0)

(1, 0), ( − 1, 0)

(3, 0), (4, 0)

(2, 0), ( − 3, 0)

5. The ends of diameter of a circle are

. The centre of the circle is(2, 3) and (6, 5)

https://dl.doubtnut.com/l/_vqOAzBRS228L
https://dl.doubtnut.com/l/_0KgGV6J0PXQT


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(3, 0)

(8, 8)

(4, 4)

(2, 2)

6. The circle 

touches x axis if

x2 + y2 − 4x + 6y + c = 0

https://dl.doubtnut.com/l/_0KgGV6J0PXQT
https://dl.doubtnut.com/l/_KSkseQO4FLIO


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

c = 4

c2 = 4

c2 = 16

c2 = 9

7. The circle 

touches x axis if

x2 + y2 − 4x + 6y + c = 0

https://dl.doubtnut.com/l/_KSkseQO4FLIO
https://dl.doubtnut.com/l/_W8YbvLdbIfe2


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

c = 3

c = 9

c2 = 3

c = 5

8. The circle 

toches

x2 + y2 − 8x + 4y + 4 = 0

https://dl.doubtnut.com/l/_W8YbvLdbIfe2
https://dl.doubtnut.com/l/_rdXyKVbZLWvX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

c = 4

c2 = 4

c = 16

c = 5

9. The equation of a circle of radius r and

touching both the axes is

https://dl.doubtnut.com/l/_rdXyKVbZLWvX
https://dl.doubtnut.com/l/_QjKVaB0pR0H8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 − 2rx = 0

x2 + y2 − 2ry = 0

x2 + y2 + 2rx + 2ry + c = 0

x2 + y2 − 2rx − 2ry + r2 = 0

10. If  is the centre of a circle passing

through the origin then its equation is

(α, β)

https://dl.doubtnut.com/l/_QjKVaB0pR0H8
https://dl.doubtnut.com/l/_ciLeYDa3bPHd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − αx + βy = 0

x2 + y2 + 2αx + 2βy = 0

x2 + y2 − 2αx − 2βy = 0

x2 + y2 − 2αx + 2βy + α2 + β2 = 0

11. The circle 

toches

x2 + y2 − 8x + 4y + 4 = 0

https://dl.doubtnut.com/l/_ciLeYDa3bPHd
https://dl.doubtnut.com/l/_Qfr2l8ZDam93


A. x axis

B. y axis

C. Both x and y axis

D. Dose not touches the axes

Answer: B

Watch Video Solution

12. The intercept on the line  by the

circel  is AB. Equation of the

circle with AB as a diameter is

y = x

x2 + y2 − 2x = 0

https://dl.doubtnut.com/l/_Qfr2l8ZDam93
https://dl.doubtnut.com/l/_wpLWkzKDqgMA


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + x + y = 0

x2 + y2 + x − y = 0

x2 + y2 − x + y = 0

x2 + y2 − x − y = 0

13. Two vertices of an equilateral triangle are

 then its circumcircle is( − 1, 0) and (1, 0)

https://dl.doubtnut.com/l/_wpLWkzKDqgMA
https://dl.doubtnut.com/l/_LwfTJ6nHIM7W


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + (y − )

2

=
1

√3

4

3

x2 + (y + )

2

=
1

√3

1

3

x2 + (y − )

2

+ = 0
1

√3

4

9

x2 + y2 =
4

3

14. A circle touches the y axis at  and its x

intercept equal to 3 units, then the equation

(0, 2)

https://dl.doubtnut.com/l/_LwfTJ6nHIM7W
https://dl.doubtnut.com/l/_3zvhVHINEZ1u


of the circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 ± 4x − 5y + 4 = 0

x2 + y2 ± 5x − 4y + 4 = 0

x2 + y2 + 5x ± 4y + 4 = 0

x2 + y2 ± 5x + 4y + 4 = 0

https://dl.doubtnut.com/l/_3zvhVHINEZ1u


15. The lines

 lie

along the diameters of a circle of

circumference  unit then the equation of

the circle is

A. 

B. 

C. 

D. 

Answer: C

2x + 3y + 1 = 0 and 3x − y − 4 = 0

10π

x2 + y2 + 2x + 2y − 23 = 0

x2 + y2 − 2x − 2y − 23 = 0

x2 + y2 − 2x + 2y − 23 = 0

x2 + y2 + 2x − 2y − 23 = 0

https://dl.doubtnut.com/l/_mIIJmFrIMJRP


Watch Video Solution

16. The radius of the circle passing through

the point (6,2) and two of whose diameter are

 and  is

A. 

B. 

C. 

D. 

Answer: D

x + y = 6 x + 2y = 4

4

6

20

√20

https://dl.doubtnut.com/l/_mIIJmFrIMJRP
https://dl.doubtnut.com/l/_V65VANEPjHbb


Watch Video Solution

17. The radius of the circle having centre at

 whose one of the chords is diameter of

the circle  is

A. 1

B. 2

C. 3

D. 

Answer: C

(2, 1)

x2 + y2 − 2x − 6y + 6 = 0

√3

https://dl.doubtnut.com/l/_V65VANEPjHbb
https://dl.doubtnut.com/l/_svA7q6Z94Sjj


Watch Video Solution

18. The circle 

toches

A. 

B. 

C. none of these

D. 

Answer: A

x2 + y2 − 8x + 4y + 4 = 0

(2, − 1)

(2, 1)

(√2, 1)

https://dl.doubtnut.com/l/_svA7q6Z94Sjj
https://dl.doubtnut.com/l/_Tg24pIZ0gHpb


Exercise Parabola

Watch Video Solution

1. The vertex of the parabola  is

A. 

B. 

C. 

D. 

Answer: D

y2 + 4x = 0

(4, 0)

( − 4, 0)

( − 1, 0)

(0, 0)

https://dl.doubtnut.com/l/_Tg24pIZ0gHpb
https://dl.doubtnut.com/l/_Nqo9yw367bzF


Watch Video Solution

2. The focus of the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 20x

(0, 5)

(0, 20)

(5, 0)

(4, 0)

https://dl.doubtnut.com/l/_Nqo9yw367bzF
https://dl.doubtnut.com/l/_sCMRrbPX0K3J


3. The axis of the parabola  is the line

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = x

x = 0

y = 0

x = 1

y = 1

https://dl.doubtnut.com/l/_4ThzdkGkBs8F


4. The latus rectum of the parabola 

is of length

A. 11

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 11x

11

4

22

44

https://dl.doubtnut.com/l/_owjIFbioeaCP
https://dl.doubtnut.com/l/_ykL8jRzxnhe2


5. If  is the focus and y axis is the tangent

at vertex. Then the equation of the parabola is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(3, 0)

x2 = 12x

y2 = 12x

y2 = 3x

x2 = 3x

https://dl.doubtnut.com/l/_ykL8jRzxnhe2


6. If the parabola  passes through

(3,2) then the focus is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = ax

( , 0)
4
3

(0, )
4
3

( , 0)
1

3

(0, )
1

3

https://dl.doubtnut.com/l/_IJTaRRvxe8Q3
https://dl.doubtnut.com/l/_bCXd0JhSGtx3


7. Equation of the parabola with focus (-4,0)

and vertex at the origin is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 16x

y2 = 16x = 0

x2 = 16y

x2 + 16y = 0

https://dl.doubtnut.com/l/_bCXd0JhSGtx3


8. The equation of the directrix of the parabola

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 = 28y = 0

y − 7 = 0

y + 7 = 0

x − 7 = 0

x + 7 = 0

https://dl.doubtnut.com/l/_3nlZZyyrSwFo
https://dl.doubtnut.com/l/_GzvAqrKhXPft


9. The vertex of the parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 = 4x + 4y

(1, − 2)

( − 1, 2)

(2, 1)

( − 2, 1)

https://dl.doubtnut.com/l/_GzvAqrKhXPft


10. The focus of the parabola

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4y2 + 12x − 12y + 39 = 0

( , )
13

4

−3

2

( , )
−13

4

3

2

( , )
3

2

−13

4

( , )
−3

2

13

4

https://dl.doubtnut.com/l/_WAx0wVgcIQEX
https://dl.doubtnut.com/l/_reNHlKHbfo8Z


11. Axis of the parabola 

is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 3y − 6x + 6 = 0

x = − 3

y = − 1

x = 3

y = 1

https://dl.doubtnut.com/l/_reNHlKHbfo8Z


12. The equation of the parabola with vertex at

(0,0) , axis along y axis and passing through

the point  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(6, − 3)

x2 + 4y = 0

x2 + 8y = 0

x2 + 12y = 0

x2 + 6y = 0

https://dl.doubtnut.com/l/_chhw2Pd4uRzr


13. The length of latus rectum of the parabola

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4y2 + 2x − 20y + 17 = 0

3

6

1

2

0

https://dl.doubtnut.com/l/_4WukhKKcx5UV
https://dl.doubtnut.com/l/_6YUKO4BLBIQQ


14. The length of the latus rectum of the

parabola  is

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

x2 − 4x − 8y + 12 = 0

https://dl.doubtnut.com/l/_6YUKO4BLBIQQ


15. The equation of the directrix of the

parabola  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y2 + 4y + 4x + 2 = 0

x = − 1

x = 1

x =
−3

2

x =
3

2

https://dl.doubtnut.com/l/_Z5TnTKlIvUdy
https://dl.doubtnut.com/l/_1EFRbZSnGimd


16. The equation of the parabola with its

vertex at (1,1) and focus at (3,1) is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x − 3)2 = 8(y − 1)

(y − 1)2 = 8(x − 1)

(y − 1)2 = 8(x − 3)

(x − 1)2 = 8(y − 1)

https://dl.doubtnut.com/l/_1EFRbZSnGimd


17. Equation of the parabola with focus (3,0)

and the directrix  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 3 = 0

y2 = 3x

y2 = 2x

y2 = 12x

y2 = 6x

https://dl.doubtnut.com/l/_I4wcZpTm4vDh
https://dl.doubtnut.com/l/_leNNWvgTSGgo


18. If  are respectively the

vertex and focus of a parabola then its

equation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, 6) and (0, 3)

x2 + 12y = 72

x2 − 12y = 72

y2 − 12x = 72

y2 + 12x = 72

https://dl.doubtnut.com/l/_leNNWvgTSGgo
https://dl.doubtnut.com/l/_UdvY0anecdm2


19. The line  touches the

parabola  at the point

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

x − y + 2 = 0

y2 = 8x

(2, − 4)

(1, 2√2)

(4, − 4√2)

https://dl.doubtnut.com/l/_UdvY0anecdm2


Exercise Ellipse

1. The eccentricity of the ellipse

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

16x2 + 25y2 = 400

3

5

3

4

4
5

9

25

https://dl.doubtnut.com/l/_sgiARmSICsmF


2. The equation of the ellipse whose axes are

along the coordinate axes, vertices are

 and eccentricity 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, ± 10) e =
4
5

25x2 + 9y2 = 900

9x2 + 25y2 = 900

5x2 + 3y2 = 90

3x2 + 5y2 = 90

https://dl.doubtnut.com/l/_sgiARmSICsmF
https://dl.doubtnut.com/l/_mgOePVvuLsev


3. The foci of an ellipse are  and its

eccentricity is  then the equation is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( ± 2, 0)

1

2

4x2 + 3y2 = 48

3x2 + 4y2 = 48

4x2 + 3y2 = 12

3x2 + 4y2 = 12

https://dl.doubtnut.com/l/_mgOePVvuLsev
https://dl.doubtnut.com/l/_1KTjQ2udHRgv


4. If the length of latus rectum is  and

eccentricity is , then the equation of the

ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5

2
1

2

+ = 1
x2

9

y2

16

+ = 1
9x2

25

12y2

25

+ = 1
9x2

25
42

25

+ = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_1KTjQ2udHRgv
https://dl.doubtnut.com/l/_pNZqKVKbcbr8


5. The line  touches the ellipse 

 if c is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = 2x + c

+ = 1
x2

16

y2

4

0

±2√17

±√15

±√17

https://dl.doubtnut.com/l/_pNZqKVKbcbr8
https://dl.doubtnut.com/l/_NbPY3012EDAB


6. The sum of distance of any point on the

ellipse  from its foci is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 4y2 = 24

8√2

4√2

6√2

16√2

https://dl.doubtnut.com/l/_NbPY3012EDAB
https://dl.doubtnut.com/l/_cu8K1AnacQfk
https://dl.doubtnut.com/l/_tGlOQZp27lvI


7. The equation

represent an ellipse iff

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ + 1 = 0
x2

2 − r

y2

r − 5

r > 2

r > 5

2 > r > 5

r > 5

https://dl.doubtnut.com/l/_tGlOQZp27lvI
https://dl.doubtnut.com/l/_Xyl2x4cWdWvG


8. Sum of the focal distance of the ellipse

 is

A. 2b

B. 2a

C. 2ab

D. a+b

Answer: B

Watch Video Solution

+ = 1
x2

a2

y2

b2

https://dl.doubtnut.com/l/_Xyl2x4cWdWvG


9. The radius of the circle passing throgh the

foci of the ellipse  and haivng

centre (0,3) is

A. 4

B. 3

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

16

y2

9

√12

7
2

https://dl.doubtnut.com/l/_wyIBeQ0A6qft


10. The eccentricity of an ellipse with its centre

at the origin is . If one of the directices is 

, then the equation of the ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

x = 4

4x2 + 3y2 = 12

3x2 + 4y2 = 12

3x2 + 4y2 = 1

4x2 + 3y2 = 1

https://dl.doubtnut.com/l/_2elUOsFE2mRh


11. The maximum area of an isosceles triangle

inscribed in the ellipse  with the

vertex at one end of the major axis is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x2

a2

y2

b2

√3ab

ab
3√3

4

ab
5√3

4

ab

https://dl.doubtnut.com/l/_b5bYA7XDvGzT


12. The ellipse with foci at (0,1) , (0,4) and one

vertex at the origin is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

25x2 + 16y2 = 1

16x2 + 25y2 = 1

25x2 + 16y2 + 80y = 0

25x2 + 16y2 − 80y = 0

https://dl.doubtnut.com/l/_sTleDouALi9Y
https://dl.doubtnut.com/l/_yirp63X67Ad0


13. The euqaiton of the conic with focus

 directrix  and eccentricity 

 is

A. 

B. 

C. 

(2, − 1) x − y = 0

1

2

7(x2 + y2) + 2xy − 32x + 16y + 40 = 0

5(x2 + y2) + 2xy + 32x − 16y + 20 = 0

7(x2 + y2) − 4xy − 16x + 32y + 20 = 0

https://dl.doubtnut.com/l/_yirp63X67Ad0


D. 

Answer: A

Watch Video Solution

7(x2 + y2) + 2xy − 16x + 8y + 20 = 0

14. The foci of the ellipse 

A. 

B. 

25(x + 1)2 + 9(y + 2)2 = 225

( − 1, 2) and ( − 1, − 6)

( − 2, 1) and ( − 2, − 6)

https://dl.doubtnut.com/l/_yirp63X67Ad0
https://dl.doubtnut.com/l/_PQulaLYPg0zL


C. 

D. 

Answer: A

Watch Video Solution

( − 1, − 2) and ( − 2, − 1)

( − 1, 4) and ( − 1, − 4)

15. Find the vertices, foci for the hyperbola

.

A. 

B. 

9x2 − 16y2 = 144

3

2

3

https://dl.doubtnut.com/l/_PQulaLYPg0zL
https://dl.doubtnut.com/l/_xib6wDuzUiTV


C. 

D. 

Answer: C

Watch Video Solution

4

2

16. S and T are the foci of an ellipse and B is an

end point of the minor axis . IF  is

equilateral then e =

A. 

△ ST B

1

4

https://dl.doubtnut.com/l/_xib6wDuzUiTV
https://dl.doubtnut.com/l/_sV9m577bza47


B. 

C. 

D. 

Answer: C

Watch Video Solution

1

3

1

2

1

5

17. The angle between the lines joining the foci

of an ellipse to an extremity of its minor axis is

 . The eccentricity is90∘

https://dl.doubtnut.com/l/_sV9m577bza47
https://dl.doubtnut.com/l/_7F3XNrdHtUF3


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

1

4

1

√3

1

√2

18. The centre of the ellipse 

8x2 + 6y2 − 16x + 12y + 13 = 0

https://dl.doubtnut.com/l/_7F3XNrdHtUF3
https://dl.doubtnut.com/l/_TgEq2h6WnjPf


Exercise Hyperbola

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 1)

( − 1, 1)

(1, − 1)

( − 1, − 1)

https://dl.doubtnut.com/l/_TgEq2h6WnjPf


1. The vertices of the hyperbola

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9x2 − 16y2 = 144

( ± 5, 0)

( ± 4, 0)

( ± , 0)
5

4

( ± , 0)
3

4

https://dl.doubtnut.com/l/_iDHZeOrkLbXY
https://dl.doubtnut.com/l/_STUGNSKRUKwg


2. The eccentricity of the hyperbola

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3x2 − 4y2 = − 12

√
7
3

√7
3

√7
2

√
7
2

https://dl.doubtnut.com/l/_STUGNSKRUKwg


3. Equation of a hyperbola such that the

distance between the foci is 16 and

eccentricity is  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

x2 − y2 = 16

x2 − y2 = 32

x2 − 2y2 = 16

2x2 − y2 = 27

https://dl.doubtnut.com/l/_wdULKhTulQGc


4. The eccentricity of the hyperbola whose

latus rectum is 8 and conjugate axis is equal

to half the distance between the foci is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4
3

4

√3

3

2

2

√3

https://dl.doubtnut.com/l/_QPDDFcSHV4IJ


5. The equation 

represents a hyperbola whose transverse axis

is along the x axis if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+ = 1
x2

12 − k

y2

8 − k

k = 8

k < 12

k > 8

8 < k < 12

https://dl.doubtnut.com/l/_9xMU1JKE235e


6. The hyperbola with foci are at , and

vertices at  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± 4, 0)

( ± 2, 0)

− = 1
x2

4

y2

12

− = 1
x2

12

y2

4

− = 1
x2

16

y2

4

− = 1
x2

4

y2

16

https://dl.doubtnut.com/l/_cQ0VUMlgmmhl
https://dl.doubtnut.com/l/_DGF6Bt117Pv3


7. The foci a hyperbola coincides with the foci

of the ellispe  . Find the

equation of the hyperbola if its eccentricity is

2.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

25

y2

9

3x2 − y2 = 12

x2 − 3y2 = 12

y2 − 3x = 12

3x2 − y2 = 2

https://dl.doubtnut.com/l/_DGF6Bt117Pv3


8. A hyperbola with foci at (0,-1), (0,3)and the

vertex at the origin is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3y2 − x2 − 6y = 0

3x2 − y2 + 6 = 0

3x2 − y2 + 6y = 0

3x2 − y2 − 6x = 0

https://dl.doubtnut.com/l/_DGF6Bt117Pv3
https://dl.doubtnut.com/l/_49MuWTqw5sRp


9. Find the eccentricity, centre, foci and

vertices of the hyperbola

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

9x2 − 16y2 − 18x − 64y − 199 = 0

(1, 2)

(1, − 2)

( − 1, 2)

( − 1, − 2)

https://dl.doubtnut.com/l/_U8I87cJYXHBZ



